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1. Choose the correct answer:
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C. Does not exist. D. None of the above
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Jordan University .
Mathematics Department
Caleulus 11, Second Exam, 12/8/2015

Student’s Nam‘eﬁ'ﬂ._gﬁg_nfs_;_a:_m ; Student’s Huml:lﬂg"
Instructor's Nam&:w . Lecture Time: %2 - [
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2) { 3 points ) Write out the form of the partial raction decompaesition: [ (Do
not evaluate the coofficients).
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4) { 4 points ) Set up the integral that finds the area of the region bounded by
7 4 yz =3y and y—=I= 3. {DD not evaluate the i.l'.Ll:-E'gT-El.l:].
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) Set up the integral that gives the volume when the region enclosed by y = &7
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Part 11 H]'__-:—E

[n questions § — 10, give a detalled answer (4 marks cach)

ﬂhﬁm of radius 10 is drilled by a cylinder of
radius 6. Find the volume of the resulting solid
C/ using the method of slicing by finding appropriate

ross seCctions.
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First Exam ¢ Calculus IT (0301102) ¢ Summer 2016
Note: This exam is composed of 5 questions. You have 60 minutes to finish

dr

!
Juestion 1 [4 points|: Evaluate | —————.
Question 1 [4 points|: Evaluate L . g

Question 2 [4 points|: Determine whether the improper integral

= 9
/ ‘ dx
() 8 —

converges and, if so, determine its values.

Question 3 [4 points|: Find the area of the region(s) enclosed by

f(z)=(x—-1) and ¢(z)=z-1.

11
Question 4 (4 points|: Suppose that / (ax + b) cos xdxr = 8. What is the
i)

value of a?

|
Question 5 [4 points|: Evaluate / vV 36 — ¢ du.
0
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The university of Jordan  Calculus Il First exam
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Q1: Find the area of the shaded region

Q2: Find (if exists) J'; x(Inx)dx
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University of Jordan
Department of Mathematics
| Calculus i First Exam Date 14/7/2011

Q1) Find .fx—'lg tan~"' x dx

u:]ﬁnﬂfn."d-g o
X

Q3) Find the area of the shaded region

Q4) Find . i

3

i
Q4) Find the value of fxi_h (if exist)
|

Q5) Find dx
" Ve 429"
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Cnlﬁulun 1 First Exam Date 3M1M11/2010

University of Jordan
Department of Mathematics

Q1) Find the area between the two curves y°=—-x+4and y=x + 2

Q2)Find [ xsin™' (x) dx
J1=x2

Q3 - a) Find [ sin (3x) cos (5x) dx

b) Find fu’:*-# b
X

Q4) Find the value of the following improper integrals (if exist)
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The University of Jordan First Exam Second Semester
Department of Mathematics Math 102 16.03.2011

Name ©7950009 31
Student Number
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jedas s YT 349 ¢

Evaluate the following integrals
1) [ Lo (x*+4)dx

1}_[' L
1 x"%+x

[ __sinx  dx
gin X + tan x
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[1) Find the area of he shaded region

i |
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(b) Find (if exist) J' dx
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